23.14 |PVC Sealant can 1
23.15 |Plastic Moulding 1" pcs 4
23.16 |No Nail Adhesive pcs 0.2
23.17 |G.|. Wire #16 kgs 1
23.18 |Metal Clamp 1/2" 2 hole pcs 10
23.19 |Tox & Screw #6 pcs 10
23.20 |Electrical Tape pcs 0.3
23.21 |Masking Tape pcs 0.3
23.22 |Plastic Tie Wrap 10" pck 0.25
24 ICOEDELEMB
24.1 |Data Cabinet 12RU set/s il
24.2 |Expansion Bolt and shield set/s 4
24.3 |Amco Box set/s 1
24.4 |Information Outlet CAT6 set/s 1
24.5 |Face Plate Duplex set/s il
24.6 |UTP Cable CAT6 rolls |0.1639344
24.7 |RJ45 Connector pcs 4
24.8 |RJ45 Rubber Boot pcs 4
249 |Plastic Junction Box 4"x4" pcs 1
24,10 |PVCPipe 1/2" pcs 12
24.11 |PVC Elbow 1/2" pcs 4
24.12 |PVC Coupling 1/2" pcs 4
24.13 |PVC Connector w/Locknut 1/2" pcs 2
24.14 |PVC Sealant can 1
24.15 |Plastic Moulding 1" pcs 2
24.16 |No Nail Adhesive pcs 0.2
24.17 |G.|. Wire #16 kgs 1
24.18 |Metal Clamp 1/2" 2 hole pcs 10
24.19 |Tox & Screw #6 pcs 10
24.20 |Electrical Tape pcs 0.3
24.21 |Masking Tape pcs 0.3
24.22 |Plastic Tie Wrap 10" pck 0.25
25 |COED PROPER
25.1 |Data Cabinet 12RU set/s 1
25.2 |Expansion Bolt and shield set/s 4
26 |COLLEGE OF ENGINEERING
26.1 |Data Cabinet 12RU set/s 1
26.2 |Expansion Bolt and shield set/s 4
27 |CSU GYMNASIUM
27.1 |Data Cabinet 12RU set/s 1
27.2 |Expansion Bolt and shield set/s 4
27.3 |Amco Box set/s 3
27.4 |Information Outlet CAT6 set/s 3
27.5 |Face Plate Duplex set/s 3
27.6 |UTP Cable CAT6 rolls | 0.2622951
27.7 |RJ45 Connector pcs 10
27.8 |RJ45 Rubber Boot pcs 10
27.9 |Plastic Junction Box 4"x4" pcs 3
27.10 |PVC Pipe 1/2" pcs 20
27.11 |PVC Elbow 1/2" pcs 5
27.12 |PVC Coupling 1/2" pcs 5
27.13 |PVC Connector w/Locknut 1/2" pcs 6
27.14 |PVC Sealant can 0.5
27.15 |Plastic Moulding 1" pcs 6
27.16 |No Nail Adhesive pcs 0.5
27.17 |G.|. Wire #16 kgs 2




27.18 |Metal Clamp 1 1/2" 2 hole pcs 10
27.19 |Metal Clamp 1/2" 2 hole pcs 10
27.20 |Tox & Screw #6 pcs 20
27.21 |Electrical Tape pcs 0.5
27.22 |[Masking Tape pes 0.5
28 [DISASTER PRIME ACADEMIC BLDG
28.1 |Data Cabinet 12RU set/s 1
28.2 |Expansion Bolt and shield set/s 4
28.3 |Amco Box set/s 3
28.4 |Information Outlet CAT6 set/s 3
28.5 [Face Plate Duplex set/s 3
28.6 |UTP Cable CAT6 rolls | 0.0983607
28.7 |RJ45 Connector pcs 10
28.8 |RJ45 Rubber Boot pcs 10
289 |Plastic Junction Box 4"'x4" pcs 2
28.10 |PVCPipe 1/2" pcs 5
28.11 |PVC Elbow 1/2" pcs 3
28.12 |PVC Coupling 1/2" pcs 2
28.13 |PVC Connector w/Locknut 1/2" pcs 2
28.14 |PVC Sealant can 0.2
28.15 |[Plastic Moulding 1" pcs 6
28.16 |No Nail Adhesive pcs 0.5
28.17 |G. . Wire #16 kgs 1
28.18 [Metal Clamp 1/2" 2 hole pcs 10
28.19 |Tox & Screw #6 pcs 20
28.20 |Electrical Tape pcs 0.5
28.21 |Masking Tape pcs 0.5
29 |ENGINEERING LABORATORY BLDG - GF
29.1 |Data Cabinet 12RU set/s it
29.2 |Expansion Bolt and shield set/s 4
29.3 |Amco Box set/s 2
29.4 |Information Outlet CAT6 set/s 2
29.5 |Face Plate Duplex set/s 2
29.6 |UTP Cable CAT6E rolls | 0.0983607
29.7 |RJ45 Connector pcs 4
29.8 |RJ45 Rubber Boot pcs 4
29.9 |Plastic Junction Box 4"x4" pcs 2
29.10 |PVCPipe 1/2" pcs 6
29.11 |PVCElbow 1/2" pcs 3
29.12 |PVC Coupling 1/2" pcs 3
29.13 |PVC Connector w/Locknut 1/2" pcs 4
29.14 |PVC Sealant can 0.2
29.15 |Plastic Moulding 1" pcs 4
29.16 |No Nail Adhesive pcs 0.5
29.17 |G.|. Wire #16 kgs 1
29.18 [Metal Clamp 1/2" 2 hole pcs 10
29.19 |Tox & Screw #6 pcs 20
29.20 |Electrical Tape pcs 0.5
29.21 |Masking Tape pcs 0.5
30 |ENGINEERING LABORATORY BLDG - 2F
30.1 |Data Cabinet 12RU set/s 1
30.2 |Expansion Bolt and shield set/s 4
31 |ENGINEERING LABORATORY BLDG - 3F
31.1 |Data Cabinet 12RU set/s 1
31.2 |Expansion Bolt and shield set/s 4
31.3 |Amco Box set/s 1




31.4 |Information Outlet CAT6 set/s 1
31.5 |Face Plate Duplex set/s ik
31.6 |UTP Cable CAT6 rolls | 0.0983607
31.7 |RJ45 Connector pcs 4
31.8 |RJ45 Rubber Boot pcs 4
31.9 |Plastic Junction Box 4"'x4" pcs 1
31.10 |PVC Pipe 1/2" pcs 6
31.11 |PVC Elbow 1/2" pcs 2
31.12 |PVC Coupling 1/2" pcs 2
31.13 |PVC Connector w/Locknut 1/2" pcs 2
31.14 |PVC Sealant can 0.2
31.15 |Plastic Moulding 1" pcs 2
31.16 |No Nail Adhesive pcs 0.2
31.17 |G.|. Wire #16 kgs 0.3
31.18 |Metal Clamp 1/2" 2 hole pcs 4
31.19 |Tox & Screw #6 pcs 4
31.20 |Electrical Tape pcs 0.3
31.21 |Masking Tape pcs 0.3
31.22 |Plastic Tie Wrap 10" pck 0.25
32 |ENTREPRENEUR
32.1 |Data Cabinet 12RU set/s 1
32.2 |Expansion Bolt and shield set/s 4
33 |FACULTY CENTER
33.1 |Data Cabinet 12RU set/s 1
33.2 |Expansion Bolt and shield set/s 4
33.3 |Amco Box set/s 1
33.4 |Information Outlet CAT6 set/s 1
335 |Face Plate Duplex set/s 1
33.6 |UTP Cable CAT6 rolls | 0.0983607
33.7 |RJ45 Connector pcs 4
33.8 |RJ45 Rubber Boot pcs 4
33.9 |Plastic Junction Box 4''x4" pcs 1
33.10 |PVC Pipe 1/2" pcs 7
33,11 |PVC Elbow 1/2" pes 3
33.12 |PVC Coupling 1/2" pcs 3
33.13 |PVC Connector w/Locknut 1/2" pcs 2
33.14 |PVC Sealant can 0.2
33.15 |Plastic Moulding 1" pcs 2
33.16 |No Nail Adhesive pcs 0.5
33.17 |G.|. Wire #16 kgs 1
33.18 |Metal Clamp 1/2" 2 hole pcs 10
33.19 |Tox & Screw #6 pcs 20
33.20 |Electrical Tape pcs 0.5
33.21 |Masking Tape pcs 0.5
34 |LADIES DORMITORY - GF
34,1 |Data Cabinet 12RU set/s 1
34.2 |Expansion Boit and shield set/s 4
34.3 |Amco Box set/s 2
34.4 |Information Outlet CAT6 set/s 2
34.5 |Face Plate Duplex set/s 2
34.6 |UTP Cable CAT6 rolls | 0.1639344
34.7 |RJ45 Connector pcs 4
34.8 |RJ45 Rubber Boot pcs 4
34,9 |Plastic Junction Box 4"'x4" pcs 4
34.10 |PVC Pipe 1/2" pcs 8
34.11 |PVCElbow 1/2" pcs 4




